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i FjHome . Z i Visiting @ 3 #(8) o g [MP VP o g 4 VP TR L R3:1 ~7 244 R3:8~14 4%

13 [} 34 ’ 13 & 23] AR | BBV | AmH | BV ENG 3| TV EN;3NES: AN ERA) 2 1 34 RVP COP| #% | % 1 34 #VP Cop
1 Sy 4 = 8 16 0 15.50 | 4.50 34.64 30.45 4 6 1 |11 | BRZ% | 51.28 8 | 12 BR 26.73

2 HRER 6 BEXE 8 16 3 14.68 | 5.32 35.54 26.05 3 9 2 13 pEN=] 45.63 9 6 | BEXE | 26.05

3 2V 7 YEBIT 8 22 11 | 14.09 | 5.9 30.27 24.64 7 |1 3 2 | WEEA | 35.54 0 | 9 KNU 26.02

5 SRS 9 KNU 8 18 15 | 11.27 | 8.73 24.18 26.02 12 | 10 4 1 Hb SR | 34.64 1 7 JE#HT | 24.64

8 B 13 p: (=] 8 0 25 2.50 |17.50 12.50 45.63 14 | 2 5 |10 i3 33.02 12 | 5 | AegE | 24.18

10 JRFSRR 12 B 8 22 19 |11.27 | 8.73 33.02 26.73 5 8 6 4 UnE 30.45 13 | 14 | Cyclops | 19.05

" BEZZ® 14 Cyclops 8 25 15 |13.78 | 6.22 51.28 19.05 1 13 |7 3 | skEe | 30.27 14 | 8 B 12.50




